
Quest ce que le cadeau  C' - ? ( )Quel nombre se trouve dans chaque cadeau?
110 ÷ 10 = 50 ÷ 5 = 99 ÷ 9 =36 ÷ 6 = 24 ÷ 2 = 35 ÷ 5 =49 ÷ 7 = 36 ÷ 12 = 16 ÷ 2 =70 ÷ 10 = 99 ÷ 9 = 6 ÷ 3 =132 ÷ 12 = 33 ÷ 3 = 14 ÷ 2 =64 ÷ = 8 6 ÷ = 3 12 ÷ = 630 ÷ = 6 33 ÷ = 11 84 ÷ = 1224 ÷ = 2 45 ÷ = 5 96 ÷ = 845 ÷ = 5 35 ÷ = 7 33 ÷ = 1144 ÷ = 4 12 ÷ = 2 64 ÷ = 8÷ 3 = 4 ÷ 7 = 12 ÷ 12 = 10÷ 10 = 9 ÷ 10 = 12 ÷ 4 = 9÷ 10 = 2 ÷ 6 = 12 ÷ 3 = 8÷ 7 = 4 ÷ 6 = 3 ÷ 4 = 4÷ 6 = 9 ÷ 9 = 8 ÷ 4 = 2
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Quest ce que le cadeau  C  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
110 ÷ 10 = 11 50 ÷ 5 = 10 99 ÷ 9 = 1136 ÷ 6 = 6 24 ÷ 2 = 12 35 ÷ 5 = 749 ÷ 7 = 7 36 ÷ 12 = 3 16 ÷ 2 = 870 ÷ 10 = 7 99 ÷ 9 = 11 6 ÷ 3 = 2132 ÷ 12 = 11 33 ÷ 3 = 11 14 ÷ 2 = 764 ÷ 8 = 8 6 ÷ 2 = 3 12 ÷ 2 = 630 ÷ 5 = 6 33 ÷ 3 = 11 84 ÷ 7 = 1224 ÷ 12 = 2 45 ÷ 9 = 5 96 ÷ 12 = 845 ÷ 9 = 5 35 ÷ 5 = 7 33 ÷ 3 = 1144 ÷ 11 = 4 12 ÷ 6 = 2 64 ÷ 8 = 812 ÷ 3 = 4 84 ÷ 7 = 12 120 ÷ 12 = 1090 ÷ 10 = 9 120 ÷ 10 = 12 36 ÷ 4 = 920 ÷ 10 = 2 72 ÷ 6 = 12 24 ÷ 3 = 828 ÷ 7 = 4 18 ÷ 6 = 3 16 ÷ 4 = 454 ÷ 6 = 9 72 ÷ 9 = 8 8 ÷ 4 = 2
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